		APPROX.		UNIT	
ITEM NO.	ITEM	QUANTITY	UNIT	PRICE	AMOUNT
209.1000	Water Pollution and Erosion Control	F.A.	F.A.	F.A.	\$50,000.00
312.0100	Plant Mix Glassphalt Concrete Base Course	1,580	Ton	\$ 148.25	\$ 234,235.00
401.0400	Asphalt Concrete Pavement, Mix No. IV	6,745	Ton	\$ 118.25	\$ 797,596.25
604.1100	Type 61614P Grated Drop Inlet, 3.00 feet to 3.99 feet	1	Each	\$ 12,360.00	\$ 12,360.00
604.1150	Type 61614P Grated Drop Inlet, 5.00 feet to 5.99 feet	1	Each	\$ 15,050.00	\$ <u>15,050.∞</u>
604.1500	Modified Type 61614P Grated Drop Inlet, 1.00 feet to 1.99 feet	1	Each	\$ 9,6000	\$ 4,600.00
604.3000	Modified Type "A" Inlet, 1.00 feet to 1.99 feet	1	Each	\$ 11,800.09	\$ 11,800.00
604.4550	Adjusting Water Valve Box Frame and Cover	18	Each	\$ 830.00	\$ 14,940.00
604.4710	Adjusting Telephone Pullbox Frame and Cover	3	Each	\$ 1,935.00	\$ 5,805.00
604.6000	Modified Type 61614P Steel Grates	4	Each	\$ 1,830.00	\$ 7,320.00
609.4000	Gutter, Type 2(61614)	8	Lin. Ft.	\$ 130.99	\$ 1,040.00
609.6000	Gutter, Type 2(61616)	140	Lin. Ft.	\$ 140.00	19,600.00
613.0100	Centerline & Reference Survey Monument	2	Each	\$ 1,330.00	\$ 2,660.00
				[

ITEM NO.	ITEM	APPROX. QUANTITY	UNIT	UNIT PRICE	AMOUNT			
621.0300	Destination Sign with Posts	1	Each	\$	\$			
621.4000	Reflector Marker (RM-2)	46	Each	\$	\$ ·			
621.4120	Reflector Marker (RM-2) with Steel Post	1	Each	\$	\$			
621.4121	Reflector Marker (RM-2) with Flexible Delineator Post	3	Each	\$	\$			
621.4700	Object Marker, Type II	160	Each	\$	\$			
621.4710	Object Marker, Type II with Flexible Delineator Post	2	Each	\$	\$			
621.5000	Regulatory and Warning Sign (10 sq ft or Less)	13	Each	\$	\$			
621.5100	Regulatory and Warning Sign (10 sq ft or Less) with Post	33	Each	\$	\$			
621.5300	Regulatory and Warning Sign (Greater than 10 sq ft) with Post	6	Each	\$	\$			
621.5500	School Advance Warning Sign with Posts	4	Each	\$	\$			
621.5600	Street Name Sign	. 5	Each	\$	\$			
621.6100	Type A Route Marker Assembly with Post	2	Each	\$	\$			

50C-01-01M r06/03/03 P-11

		APPROX.		UNIT	
ITEM NO.	ITEM	QUANTITY	UNIT	PRICE	AMOUNT
621.6200	Type B Route Marker Assembly with Post	1	Each	\$ 700.9º	\$ 700.00
621.7100	Construction Sign with Posts	4	Each	\$ 1,000.00	\$ 4,000.00
621.7600	Mile Post Marker with Post (Bi-directional)	3	Each	\$ 190.00	\$ 570.00
623.7100	Loop Detector Sensing Unit (6 Feet x 6 Feet) One Loop	6	Each	\$ 1,270.00	\$ 7,00.00
623.7600	Loop Detector Sensing Unit (6 Feet x 6 Feet) Six Loops	2	Each	\$ 7,630.00	\$ 15,260.00
623.8100	Microwave Detector Including No. 16, 4 Conductor Cable	2	Each	\$ 4,670.99	s 9,340.00
629.1010	4-Inch Pavement Striping (Tape - Type I or Thermoplastic Extrusion)	L.S.	L.S.	L.S.	\$ 100.00
629.1011	4-Inch Pavement Striping (Tape - Type II or Thermoplastic Extrusion)	L.S.	L.S.	L.S.	\$ 21,600.00
629.1012	4-Inch Pavement Striping (Tape - Type III or Thermoplastic Extrusion)	L.S.	L.S.	L.S.	\$ 1,290.00
629.1013	8-Inch Pavement Striping (Tape - Type I or Thermoplastic Extrusion)	L.S.	L.S.	L.S.	s_ 840.09

		APPROX.		UNIT	
ITEM NO.	ITEM	QUANTITY	UNIT	PRICE	AMOUNT
629.1014	8-Inch Pavement Striping (Tape - Type II or Thermoplastic Extrusion)	L.S.	L.S.	L.S.	\$ 2,150.00 \$ 2,300.00 \$ 770.00
629.1015	12-Inch Pavement Striping (Tape - Type II or Thermoplastic Extrusion)	L.S.	L.S.	L.S.	\$ 2,300.00
629.1016	12-Inch Pavement Striping (Tape - Type III or Thermoplastic Extrusion)	L.S.	L.S.	L.S.	\$ 770.09
629.1017	Double 4-Inch Pavement Striping (Tape - Type I or Thermoplastic Extrusion)	L.S.	L.S.	L.S.	\$ <u>19,250.99</u>
629.1018	Double 4-Inch Pavement Striping (Tape - Type II or Thermoplastic Extrusion)	L.S.	L.S.	L.S.	\$ 4,370.00
629.1020	Crosswalk Marking (Tape - Type III or Thermoplastic Extrusion)	12	Lane	\$ 265.00	\$ 3,180.00
629.1031	Pavement Arrow (Tape-Type III, or Thermoplastic Extrusion)	20	Each	\$ 135.00	\$ 2,700.00
629.1041	Pavement Symbol (Shark's Teeth Marking) (Tape-Type III or Thermoplastic Extrusion)	4	Each	\$ 150.00	\$ [9,250.00] \$ 4,370.00] \$ 3,180.00] \$ 2,700.00] \$ 600.00] \$ 125.00]
629.1063	Parallel Parking Stall Marking - Three Stall (Tape-Type III or Thermoplastic Extrusion)	1	Each	\$ 125.00	\$ 125.00

ITEM NO.	ITEM	APPROX. QUANTITY	UNIT	UNIT PRICE	AMOUNT
TI ZIVITO.	TTCIVI	QUANTITI	Olviii	TIGOL	
629.2010	Type A Pavement Marker	L.S.	L.S.	L.S.	\$ 125.00
629.2030	Type C Pavement Marker	L.S.	L.S.	L.S.	\$ 4,930.00
629.2040	Type D Pavement Marker	L.S.	L.S.	L.S.	\$ 3,850.00
629.2070	Type H Pavement Marker	L.S.	L.S.	L.S.	\$ 1,190.00
645.0200	Additional Police Officers and/or Additional Traffic Control Devices	F.A.	F.A.	F.A.	\$ 40,000.00
651.0100	Excavation for Reconstruction of Weakened Pavement Areas	1020	Cu. Yd.	\$ 100.90	
652.0100	Cold Planing	7,745	Sq. Yd.	\$ 9.00	\$ 69,705.00
699.0100	Mobilization (Not to exceed 10% of sum of all items excluding bid price of this item and force account items)	L.S.	L.S.	L.S.	\$ <u>55,217.75</u>
	SUM OF ALL ITEMS				\$ 1,576,100.00
	NOTE: Bidders must complete all unit prices and amounts. Failure to do so may be grounds for rejection of bids.				
L		L		L	<u> </u>

The bidder is directed to Subsection 108.01 - Subletting of Contract.

The bidder's attention is directed to Section 699 - Mobilization for the limitation of the amount bidders are allowed to bid.

If the bid price for any proposal item having a maximum allowable bid indicated therefor in any of the contract documents is in excess of such a maximum amount, the bid price for such proposal item shall be adjusted to reflect the limitation thereon. The comparison of bids to determine the successful bidder and the amount of contract to be awarded shall be determined after such adjustments are made, and such adjustments shall be binding upon the bidder.

The bidder is directed to Subsections 106.12 - Recycling of Waste Glass and 106.13 - Ordering of Certain Material.